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C.e”(tanz + sec’z) + (logz + 1)
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Answer: D
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B. cos (sin 332)
2
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D. —sec2 <% + zc)

Answer: B

Oaﬁ%ﬁrmaﬁ

10. % (log \/sin \/e_x) IR 8


https://dl.doubtnut.com/l/_U6KRv82xZHyv
https://dl.doubtnut.com/l/_zjgTTawq4Ky1

A —e*/2cot e*/?

B. e/ 2cot e* /2

x/2
5 cot(e"’/2)

D. %cot (ewﬂ)

€

Answer: A

O S &

1. Ife r = 3cosf — 2cos’ 0

d
y = 3sing — 2sin’ 6 ¥A 2 WA 2
i

AT


https://dl.doubtnut.com/l/_zjgTTawq4Ky1
https://dl.doubtnut.com/l/_RyuCsYIb9ML9

A.cot 6

B.tan6

C.secf@

D. cos ect
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(6 + sinz)’
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| (6 + sinz)®

—4sinx
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Answer: C
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D. —log 2

Answer: A
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https://dl.doubtnut.com/l/_P16gAopSfiPX
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Answer: D
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B.b—2r»fai2 <z < 3
C.2r —hpfau2 <z <3

D.b— 2z pfau2 <z <3

Answer: B



https://dl.doubtnut.com/l/_xdKGOOy24zKv
https://dl.doubtnut.com/l/_1hDGLerXNL6p

d
26.€Ifay:10g10:13—|—10gey,€f?ﬁ d—y CARIC
x

log4 €
C g10 ( Yy )
T y—1

D. 318 q ®IS T8

Answer: C

O AT E



https://dl.doubtnut.com/l/_1hDGLerXNL6p
https://dl.doubtnut.com/l/_9vRMyyrKijSz

27. 3Ifg 8f(:c)+6f(%)=a:+5 deT

y=z'f(z)@dlz = — 1C|'\’d—ﬁq1:r§?|7n
T

D. 390 & PI &

Answer: A

O drdiswE



https://dl.doubtnut.com/l/_9vRMyyrKijSz
https://dl.doubtnut.com/l/_kGQy564fS7AP

Answer: B

O dfa &



https://dl.doubtnut.com/l/_uFdmXTpC5GNS
https://dl.doubtnut.com/l/_jYngaIsFAWbc

29. i siny = x sin(a + y) T

d A
& X=0,y=0 TG TR A &I
dz 1+ z2 —2xcosa

O &Pl

A2

B. cos a

C.sina

D. 390 ¥ &Is T8l

Answer: C

O S &



https://dl.doubtnut.com/l/_jYngaIsFAWbc

(1+3z) & OO

—_ | =

W
{2 T }qo|31qqoo1o1iﬁTrr
xZr

A.0
B.1/2
c.1/3

D. 398 I PIs gl

Answer: A

O ra &



https://dl.doubtnut.com/l/_58KY5uEcwf8K
https://dl.doubtnut.com/l/_F2J3AB7smSkS

31.3f¢ (cos )Y = (siny)” ?:ﬁ?ﬁ WHF[@TH
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logsiny + ytanx

" logcosz + x cot y
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“x¥logz — 1
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https://dl.doubtnut.com/l/_0nrDH3rXeX6C
https://dl.doubtnut.com/l/_sUsH9n4pAtbh

B.2x[1 + tan(logz)] + x sec’ x
C.2x[1 + tan(logz)] — secx
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Answer: D

O dfa &

35.1log, 5 &I log, = & AT Hddbel R & ?
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C. —(log, 5) °
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B. sin(2t)


https://dl.doubtnut.com/l/_YYVn5krmGWBd
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C. —cos(2t)

D.—1/2

Answer: A
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B.sinx + cosx

A.

C.2

D. 398 I P18 T8I
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zy® tan(wy) + (3y* — z)
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T
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tan 'z B IANUYI 2


https://dl.doubtnut.com/l/_aNqjAPGx4ePV
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https://dl.doubtnut.com/l/_XO64VlkhW0Wu

A. Bdd |
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d , o\ e
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B. oddl II
C. 1 3R 1l g
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B. dd I

C.1 3R 1l gt
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Answer: C
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Answer: C
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Answer: C
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A. 2a2
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C.2ab
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Answer: B
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O ==
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A. THIR 261 3
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60.U% Beld f: R — R g o v @
(i) f(z) #£0, Ve € R

fle +y) = f(z) - f(y), Vo, y € R
(iii) f(z) 3BT B g (iv) f(0) = 2

Bl f(0) &1 HMA 8P

Al

C.2

D.1/2

(i)


https://dl.doubtnut.com/l/_rGcnwHLfmEpm
https://dl.doubtnut.com/l/_TGS7qI9genbM

Answer: A
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61. Uk BT f: R — R g o 3aar @
(i) f(z) £0,Vz € R (ii)

fle +y) = f(z) - f(y), Vo, y € R
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